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up the table in this way, we can see more clearly than we did in Table 11.3 that we have not 
yet fully answered our question about why blacks are more pro-life than whites.

USE SPSS TO ANSWER A QUESTION  
WITH A THREE-WAY CONTINGENCY TABLE

You already have the skills to use SPSS to create a contingency table, along with the appro-
priate data for the contents of the cells and the statistics for evaluating it. To create a three-
way contingency table, you use the “Analyze,” “Descriptive Statistics,” and “Crosstabs” 
commands exactly as you have previously, with one addition. After you put the dependent 
variable in the rows and the independent variable in the columns, you place the control 
variable in the box that has the heading “Layer 1 of 1.” Once again, you will choose the 
appropriate measure of association, but in determining that, you ignore the level of mea-
surement of the control variable. The measure of association will be the same one you 
would have chosen in your original two-variable crosstab: Cramer’s V or lambda for 
nominal-level variables and gamma for ordinal variables. As usual, you make sure that the 
cells contain the observed count and the column percent. Box 11.3 modifies Table 9.4 to 
allow for a control variable.

BOX 11.3  How to Get a Three-Way Cross Tabulation in SPSS

After opening and cleaning your data in SPSS:

>Analyze

>Descriptive Statistics

>Crosstabs

“Dependent Variable”→Row Variable

“Independent Variable”→Column Variable

“Control Variable”→Layer 1 of 1

>Cells

>Observed

>Column

>Continue

>Statistics

>Chi-square

>Phi and Cramer’s V

>any other statistics that you might want

>OK


